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3. 0°<x<90° €U, & T &> A7
@ 0<cosx<1 @ 0<sinx<1 @ 0<tanx<1

@ -1<tanx<0 B -1<sinx<1



@D 39°

o] TE Hlsinx = 0.6691 & o, x o] 727
2t | AFQl(sin) | EAFRl(cos) | EtMIE(tan)
39° 0.6293 0.7771 0.8098
40 0.6428 0.7660 0.8391
471° 0.6561 0.7547 0.8693
4 0.6691 0.7431 0.9004
® 40° B 41° @ 492° B) 45°



E B3 cosx = 0.7193 & WZ0= x of] ot tan x &) 3H2?
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Zte sin cos tan

44’ 1 0.6947 | 0.7193 | 0.9657
45° | 0,7071  0,7071 | 1,0000
46° | 0.7193 | 0.6947 | 1.0355
47" 0,7314 | 0,6820 | 1,0724

@® 0.9657 @ 1.0000 ® 1.0355

@ 1.0724 ® 1.9657



@ 2V5cm
@ 3cm

@ 4+v5cm
3 4+/3cm

® 2V7cm



7. cosA:Z A o], sinA + tanA ©] 27 (T, 0° <A <90°)
3V7 57 VT 57 VT
@ 4 @ 4 ® 4 12 ® 12
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@ cos A

-2

@ sinA

2
5

@ tanA =2



10. o= O3 Zo] vtz F9] do|7t 191 AHEY
of tfste] /DAB = x, /ADB =y, /DEC =z
g o, ohg F &4 g2 A0
@® siny =sinz @ tany = tanz
® tanx =CE @ cosz =sinx

B cosz=1
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® tan45s° @ sin40° @ sin45°

@ cos 30° 3 cos 40°



2te sin cos tan

54° 0.8090 0.5878 1,3764
Gl 0.8192 0.5736 1.4281
56" 0.8290 0.5592 1,.4826

@D 8.192 ® 5.736 ® 5.878

@ 8.09 B 829
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15. o3 283 Zo] ¥ix]52] do]7h 1 91 AREHNA] cos 35°+tan 35°+
sin 55° 9] #k2?

y
1
(O ()] S N p
0,57 -n-mmmmmmm - B
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Y
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35° =
(0] B C z
0.82 1

D 1.40 ® 1.96 3 2.09 @ 2.34 B 2.46



16. g x o g oA M 2 A27 (F,0° <x<90° °|t. )

® tanx= V3 @ sin(x+10°) = 1

® cos(2x—10°) = ? @ tan(2x+30°) =1

DO

(3 sinx = cos x
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2 oA sinx 9] %k




18. o3 I"HoA sinx 9] #H2?
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th& 193} o] @iio] ABCD ©]
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